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Instructions for Candidates

1. Write your Roll No. on the top 1mmed1ately on receipt
of this question paper.

2. Attempt any five questions.

3. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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1. (a) Explain the princi

(b) Your total benefits

quantities of burger each week are shown in the

2

following table.

ples of economics. | (6)

from consuming different

Burgers (per week) Total benefit R equivalent) ;\(/larginal Benefit
0 0 :
] 150
2 250
3 320
4 370
B 400 |
6 420 |

(i) Complete the marginal benefit .column.

(1)

(ii) The price of one burger is ¥50. Use the

(i)

(iv)

Principle of Optimization at the Margin to

find the optimal number of burgers to

consume each week.

[0

Will your answer for (i) remain same if

you use optimization by levels principle?

Explain. -

(1)

If the prize of burger rises to I70 then

find the new optimal number of burgers t0

consume each week.

(2)
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(c) Write a short note on Opportunity Cost. Yoﬁ loan
a friend 10,000, and at the end of 1 year she

~ writes you a check for ?-I0,000 to pay off this
loan. If the annual interest rate on your savings
account 1is 6 percent, what '_waé your opportunity

cost of making this loan? ‘ ' (6)

() e @ R e @k |

(@) TR T W—mmﬁaﬁtﬁﬁ%maﬁ

" - TBurgers (per week) | Total benefit @ equivalent) | Marginal Benefit |
o _ 0 — < ,
1 150 : ’

2 250
3 320 :
4 370 -
S 400

-1 6 420
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2. (a) There was a severe drought in Madhya Pradesh

that damaged wheat crop last year. The price of
wheat doubled in the first three months of this

year.

(i) Explain the increase in wheat priées using

supply and demand diagram. (3)

(ii)) How will this drought affect the equilibrium
price and quantity-of bread? Draw a supply
and demand diagram for the bread market

to explain your answer. : ()
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(b)What is an indifference curve? Can two
indifference curves intersect? Explain your answer.

(6)

(¢) Consider a perfectly competitive market for a good
has reached its long-run'cquilibrium At equilibrium,
what is the economic profit for each firm? Can
the individual firms produce at minimum average

total cost and make maximum economic profits?
Explain using graph. (6)
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3. (a) Why is the long run supply curve horlzontal '
| Explaln using graph ' i B a (.6, |

(b) What is ; tax incidence? Draw a graph to.show ta
' 1n01dence if the demand is more. elastlc than the
supply for a good" - o (6

(c) The following table; shoWS Priya 'and.Soini.a’s tota
. expenditure on chocolates ; | |

Total-Expenditare (per month)
.. | on chocolates

Price @) | Priya.. Sonia
50 900 500
40 |80 - 1600

(i) Use the mid- -point formula to calculate th
| _prlce elasticity of demand for both Priy
and Sonia when the price of chocolat

increases from 40 to 50 rupees. (¢



3007 R

(i) Explain why Priya would spend more on
chocolates, while Sonia would spend less

when the price-of Chocolate increases.
3)
(3 ) ﬂéﬂ?ﬁ#mﬁwﬁma@rm%?maﬁm
¥ T

(®) Wwé?maﬁaﬁmaﬂwﬁm
aﬁmméﬁmwﬁaﬁ%mww

TG
X |
(|) ﬁwmﬁwmmﬁm aﬂz@rﬁm%mmﬁ
) .
Y2 %
' TTotal Expenditure (per month)
] . ' & - |on chocolates
Price (%) Pr_lya ' Sonia
50 900 | 500
40 800 1600 .
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4. (a) Alisha and Raj are both students working for the
| college fest. Alisha and Raj can only work for 5
hours a day. The college President informs them

that they need to create 200 posters for (lisplay

and call 250 compames for raising funds in next
| 10 days. The followmg table shows how many'
‘posters and calls Alisha and RaJ can work on in

a given. number of hours :

Hours spent | Alisha T Alsha ~ | Raj
(Poster) (Calls) ~ | (Poster) (Calls)

1 - 2.k _. Lyl S e )2

2 & T10 10 4

3 § |15 5 |6

7 T [ | 3

5 110 25 . |25 |10

(1) Create_z"a production poss.ibilities curve for
~ Alisha and Raj. (2)
(i) What is Alisha’s Oppor-tunity cost of

. creating one poster? SR ¢

; (i) Can both Alisha ahd ‘Raj benefit from
helping each other? If so, what should be
their terms of trade? » (2)
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(b) How does a minimum wage affect the labour

market equilibrium? Are cconomists in favour of

minimum wage? Give reasons. (6) .

(c) Varun has 1000 rupees to spend on Cold drink
and Popcorn. Suppose the prize of Cold drink is

X100 and price of popcorn is ¥200. - (6)

(i) Construct and draw the budget constraint."

(i) Show the change in the budget constraint
that would occur if price of popcorn
dropped to X150.

(i11)) Show the ch.angc in the budget constraint
~ that would occur if the price of cold drink
~doubled.

(iv) Show the change in the budget constraint
that would occur if his income increased
to ¥2000. |

(v) Can we determine Varun’s final

consumption? Explain your answer.

(31) maﬁzmﬁm%ﬁ%iﬁvmrﬂ%a@'
m%nmﬁmaﬁrmﬁ?ﬁmsaﬁﬁwaﬂ
m%lm%m%ﬁﬂﬁaﬁm%m

) - i P.T.O.
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Hours spent “Alisha Alisha ' ’Raj Raj
(Poster) (Calls) . | (Poster) | (Calls)

¥ 2 5 5 2
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5. (a) Why does the government need to subsidize
education? Show the effect of a subsidy on the

education market using a graph. : (6)

(b) Suppose the supply and demand schedules for glasé

~ are as follows:

"P.T.O.
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Drioe (2 Demand : Supply ]
_Iz’gilce(’) —T700 0 :
30 190 ) =N
40 180 i -
50 70 L _—
60 60 2 '
0 50 30

80 40 40
90 1130 150
100 20 . 60

120 0 80

(i) Draw the graph and state the equilibrium
~ price and quantity and the total surplus in

‘the glass market. - )

(ii) Calculate the -new quantity that will be
traded, consumer sufpluS, producer surplus, -
and dead weight loss if a price floor is set
at ¥100. Draw graph. - ' (4)

(c) Explain the trade-off between equity and
' efficien,cy‘. Is it possible for the government to
improve equity and efficiency at the same time?

(6)
() imaﬁnfaﬁ'ﬁﬁ&u'qr‘aﬁiﬁﬂj%ﬁ‘aﬁ'3nawiﬁﬁén'aiﬁ'%? T
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Price () Demand Supply

20 100 K

30 90 G

40 o 0

50 = 0

60 £ 1 -
70 50 30 i
80 .. 40 40

90 30 . 50

100 50 2

110 : T - =
1 120 T } 0 20
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6. (a) What is the Coase Theorem‘7 Under wha?t
conditions will the:Coase Theorem break down?

(6)
P.T.O.
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(b) What do you mean by a game of strategy? Give
- some examples. (6)

(c) The price of a good in a perfectly competitive
market is ¥50. A producer has the following total
cost and marginal cost functions. -

TC(Q) = 300 + 0.2Q%> MC(Q) = 0.3Q
(i) Write the equation for the firms average

~ variable cost. - : S o (1)

(i) Compute the output (Q) that the firm will
produce to maximize profit. (D)

(1i1) Calculéte the profit made by the firm if it
produce$ the profit maximizing quantity.
Will the firm continue to operate or.will it

~ shut down? ‘. it o 4) .-

(). or e 37 o Rl 3 shr e
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7. (a) Draw graphs for each'{'of_ the fclching cases and
explain the final effect on equilibri'um quantity and
prlce for cars in the perfectly competltlve market.

(1) ngh interest rate on . car loans (2)

(11) Slmultaneous increase in income of the
consumers and a restrlctlon on the inflow

of f0re1gn labor employed in the car
1ndurstry LR et g 2T (2)
’(iii) E)rpectation that cafs will become cheaper
- next year. L , s 2)

’ ‘ \' ’ ; r . X 1
(b) Differentiate between private, public and c12161;

- good. Give 'lex;amplés.

P.T.0.
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(¢) Explain why correlation does not always imply

causation. Identify cause and cffcct lelatlonsh,p

(if any) in the following cases :
(i) Drought and rise in price of rice.
(i) Female education and lower fertility rate.
| _ ©
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